To be able to measure capacity

Success criteria:

v | can use one non-standard unit container to measure the
capacity of another non-standard unit container.

v | can explain my reasoning when measuring the capacity of
another non-standard unit container.
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To be able to measure capacity

What’s the same?
What’s different?

Starter:

Explain your answer to your grown up.




To be able to measure capacity

Starter:
What’s the same? What’s different?

N~

Both glasses are full.
The purple glass is larger and has a greater capacity than the green glass.




To be able to measure capacity
Activity 1:
How many ___ fill a ?

Children to experiment using one non-standard
unit container to fill another non-standard unit
container.

For example, finding out how many spoons fill a
teacup, or how many ladles fill up a glass, or
how many glasses are need to fill a bucket...

Use the sentence stem to help you write in your
book all about what you found out

[The has a capacity of




To be able to measure capacity

what have you noticed?
Can you continue the pattern?

Talking Time: \_

It takes two ladles to fill a teacup.

How many ladles do | need to fill more teacups?
Complete the table below.

7] 1 2 3 4 5
2




To be able to measure capacity ¢

The number needed is counting up in
twos.

Talking Time: \_

It takes two ladles to fill a teacup.

How many ladles do | need to fill more teacups?
Complete the table below.

7] 1 2 3 4 5

] 2 4 6 8 | 10




To be able to measure capacity

[What have you noticed?

Talking Time: Can you continue the pattern?

It takes three jugs to fill a bucket.

How many jugs would you need to fill more
buckets?

Complete the table below.

< . 2 3 4 5 b

w




To be able to measure capacity [The sequence is counting up in

threes.

Talking Time: Very clever!
It takes three jugs to fill a bucket. How many jugs
would be needed to

fill 7 buckets?
How many jugs would you need to fill more

buckets?

Complete the table below.

! 1 2 3 4

y- 5 . . - -

|
Q




To be able to measure capacity

Talking Time:

Jamal pours the glasses of water shown into the
bucket and it fills it to entirely full.

He says, “The bucket has a capacity of exactly
four glasses.”

Do you agree?
Explain your answer.




To be able to measure capacity

Talking Time:

Jamal pours the glasses of water shown into the
bucket and it fills it to entirely full.

He says, “The bucket has a capacity of exactly
four glasses.”

Yes, | do agree.

There are four full glasses, which if they can
entirely fill the bucket, means the bucket has a
capacity of exactly four glasses.




To be able to measure capacity

Activity 3:

Ruth pours her glasses back into the bottle and
it fills it back to entirely full.

She says, “The bottle has a capacity of exactly
five glasses.”

Do you agree?
Explain your answer.




To be able to measure capacity

Activity 3:

Ruth pours her glasses back into the bottle and
it fills it back to entirely full.

She says, “The bottle has a capacity of exactly
five glasses.”

No, | do not agree.

Only one of the glasses is full. All five of the
glasses would need to be full for the bottle to
have a capacity of five glasses.




To be able to measure capacity

to fill one bucket?

How many ladles would it take to fill more
buckets?

Explain your answer.

Activity 4:
If two ladles fill one teacup and five teacups fill
one bucket, how many ladles would be required

7
g




To be able to measure capacity

Activity 4:

If two ladles fill one teacup and five teacups fill
one bucket, how many ladles would be required
to fill one bucket?

It would take ten ladles to fill one bucket, twice
as many ladles as teacups.

It would take twenty ladles to fill two buckets,
thirty ladles to fill three buckets, forty ladles to
fill four buckets...




Challenge time!

Rosie, Teddy and Amir are describing
their glasses of water.

Use the words ‘more’ or ‘less’ to compare the containers.

St My glass has more

&

4 water than Teddy's. Ahas|  thanB. ﬁﬁ
Ahas|  thanB.

[ My glass is nearly full -

Teddy

(@]o]
.ﬁ My glass has less water ] . Put these in order from empty to full.
Can you fill in how much water could be

Armir than Rosie's. “ U H “
A B C D
in each of the children’s glasses?

@ @ empty full
Rosie Teddy I | Amir l

Sample Straes 6/4/2020

Rosie




Well done, you have done all
your maths work for this

6/4/2020




